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Problems: very heavy and very transient beam loading!







assuming R = 100 kΩ and Q = 4000
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It should not surprise that the average induced p g
voltage is around 1 MV, i.e. 100 kΩ · 10.2 A
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ωIm no beam, some mismatch
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ωIm no beam, tuned to match
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ωIm beam on, matching lost
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beam on, matching to beam
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beam off, sudden mismatch
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Blue: phase of drive current in units of π (corresponding to 
frequency offset)
G   lt  i  it  f 300 kV
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Green: gap voltage in units of 300 kV
Red: total current in units of 474 A




